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33651112 |Uudnpuhghihutpjudnyubwppnt 1.2q w/t $ Qz hwwn 1500 150, 000 100
33651112 |Uunpuhghihtutpjuynyubwmppn625uq hwp Qz hwun 300 90, 000 300
33651112 |Udnpupghiht+pjuynywbupen 156 Uq-100d; 2ohYy QZz huwn 1100 11, 000 10
33651110 |Uduyhgphht 0.5 Wk d/d b1 Qz hwwn 150 45, 000 300
33651111 [Udopuhghihtt 0.5  nphnuhwin Qz hwn 50 15, 000 300
33651116 |[8kdwgniht 1q w/t  J/d b 1S4 hwuwn 200 60, 000 300
33651141 |[8tdnipopuhd 750 g w/h d/d b1 QZ hwwn 1300 65, 000 50
33651118 [8kdwphwpunt 1q W/t /U $ V4 hwwn 180 126, 000 700
33651118 |Stduphwpunt 0,5q Wk /U § Qz hwn 180 72,000 400
33651134 [Shypnynpumghtt  500Uq phnuwhwn Qz hwwn 40 4, 000 100
33651128 [Lhupndnipwiinniht  50uq ntnuhuwn Q7’2 huwn 3 2,100 700
33651280 |[ULhdnipnljuwghn 100uUq nhnuhun Qz huwn 20 2,400 120
33651280 |[Uhdnipnljuwqhn 100U opwipuily Qz wnntth 2400 24,000 10
Nuijthwqupnifh pjunwnn, pwodh wpdwnbbkp, hwqptdupnh
33651100 wbplubp  phqwhwn Zjwitdpnt/ Qz hwwn 70 8, 400 120
Utwnpnt - 5ug/d; 100.0
33691112 mnt?ﬁm Preqny. 1= SUG/AL Q2 hutn 300 30, 000 100
33691112 |Utwpnuhnwqgn) hbpunguyht  Undphly 500Ug Qz hwwn 75 7,500 100




33651131 |Unipdwdbpopuwaqn] + nphdGenwphd 480Uq  phnuhwwn Qz hwwn 15 3,750 250
33651131 gﬁfmuljldl:nri&?;qul - innhdtpniphd 2400g/50, 800 Qz hwwn 1500 7,500 5
33691000 [Opunhtt 2,5uUq/q; 10qg wnuh Qz hwwn 250 1, 250 5
33651170 |UghYnyhp punilj 5% 5q wnith QZ hwn 300 1, 500 5
33651150 |[dpniyntwgn; 150Uqg nlnuuyuwn] V4 hwwn 170 6, 800 40
33651148 |[Ynwuphdwgn] 100dq undhl Q’z hwwn 100 15, 000 150
Lwwnphntdh pnphry, Yuihntdh pinphr, Yuighnudh
33691129 |[pinphny 8,6Uq/U+0,3dq/U+0,49dq/dU; 500 U] thwphkp (894 hwun 300 180, 000 600
/ [*huqkp/
Lwnphntth pnphry, Yuihnith pinphr, Yuighnudh
33691129 [pinphy 8,6Uq/U+0, 3uUq/Uj+0,49dg/dy; 250 Uy Qz hunn 144 57, 600 400
thwpkp /*huqkp/
33691136 |Lwwphnidh pinphy 0.9 % 5.0 upjuy Qz hwn 50 30, 000 600
33691136 |Lwwniphnidh pinphy 0.9 %  500.0 thwphtp Qz hwun 300 150, 000 500
33691136 |[Lwwuiphnidh pinphy 0.9 % 250.0 thwphkp Qz hwn 144 72,000 500
33691138 (Qyniynqu 10 % 100.0 thwuphtp Qz hwun 400 24,000 60
33691138 [Qyniynqu 5 % 250.0 thwphp Qz hwwn 250 200, 000 800
33621160 |Udhunjuwpnuwppnt 5 % 250 thwphkp Qz hwun 600 3, 000 5
33691134 [Ywihnwh pnphy 4 % 2004 thwphp Qz hwwn 350 1, 750 5
33620000 |zhnpopuhtph) oujm 6% 500.0 thwpthp Q2 hwwn 2800 42,000 15
33621250 [Yhpuwmpwi 40 2504 thuphtp Qz hwn 1000 10, 000 10
Lwwinphnidh wghwnwwn, btwnphnwdh pinphy, juhnudh
33691136 E{Eﬁﬁﬁéﬂﬁ}ﬂﬁfﬁ%&Eﬁﬁ{i’&f@%ﬁ?&ﬂ% ,36Uq/U+0, 25uq 2 huan 550 22,000 40
/U] 500 U)/Pnun-Skp/ thwphkp
33620000 |Ujpnudhtt 10 % 100 uj N Qz hwn 14500 29, 000 2
33691232 |[Uhukunihy thnoh 2q  thuphkp Qz hwwn 100 6, 000 60
33631281 |PunnUbwnwghtt punil 100Uq/q 40q wntth Qz huwn 250 1, 250 5
33631281 [Punnubtwnwghti Unuhly 50uq QZz huwn 80 4, 800 60
33631310 [thyndbuwl 75dq 3.0 upyuly Qz hwwn 100 35, 000 350
33631310 [Thindkuwl 100Uq  dUndhly QZ hwwn 130 13, 000 100
33631290 |Ppniypndti 400uUq ntnuhuwn Q2 hwuwn 50 15, 000 300
33631310 |[Yhlhndhuwy 10Uq/q 30q wnnith Qz hwwn 200 1, 000 5
33661121 |Ugtwhjuwjhghjuppent 500Ug nhnuwhuwn Qz huwn 50 15, 000 300
33661114 |[dLunwmiup);  0.005% 2.0 upyuly Qz hwwn 400 16, 000 40
33661000 |[NMpndtnyn; 2 % 1.0 upyuly Qz hwn 700 28, 000 40
33661113 |Phnykuwnw) bwwnphnd 1.0 upduy Qz hwwn 2500 25, 000 10




33661135 |[Uhgugniuud 15dq/3d] uduy Qz huwn 1400 28, 000 20
33661111 [Yhkwwdhl 500ug 10Uy upyuly Qz hwwn 1000 25, 000 25
33631370 |[Uwnpuwlyniphnidh phghjuwn  10dq/d) 5uU; upjuy Qz hwn 1600 16, 000 10
33661136 |Tthwqbwywd 10uUg 2.0 upjuly QZ hwn 90 18, 000 200
33661136 |Thwgqtyud  Sug hwp Qz hwwn 9 648 72
33631360 |Untjuwdbpnuhmd 2% -5,0 upjuly (894 huwn 250 7,500 30
33691226 |[Spudwnn) 100Uq/2d] 2d;  upduy Qz huwn 90 9, 000 100
33661157 Eﬁg‘lrlhhh umiuna 0-1% 1.0 Q2 hwn 70 14, 000 200
33621290 |[Ewhutdphtt 1.82 dg/du] - 1d] upul Qz huwn 130 13, 000 100
33661147 [Uknuwnhguhtt 0,05% 14 QZ hwwn 50 2,500 50
33661116 |Lhynywhl 1% 20.0 upyul Qz hwwn 700 14, 000 20
33661116 [Lhnnljumhlt 2% 2y upyuly Q’z hwwn 25 1, 250 50
33661170 |NMpnluwjhtt 0,5% 5,0 upyuy Q7 hwwn 50 10, 000 200
33661115 [Pniyhquluyhtt  WPW SPINAL 0.5% 4 ML HEAVY Q’z hwwn 1200 120, 000 100
33661110 |Pqndnipwt 99,9% 100U QZ huwn 12000 12, 000 1
33661127 |[Utwwdhgn) 50% 2.0  updul Qz hwwn 40 28, 000 700
33661125 |y hunfhqny, whinn$bunt, Pinghibphthoud 51 upduly * b 150 7,500 >0
33631430 [MYuljtunwypndkt 25dq/d] 2d] upduly Qz huwn 650 6, 500 10
33631430 [MYulhtunnuypndtku 25dq nhnuhwn Qz hwn 170 5, 100 30
33611170 [Ypnuwdbphtt  20dg/u] 24y upjuy Qz hwwn 70 14,000 200
33621540 [NMwwwykphtt 2 % 2.0 upjuly Qz hwn 50 12,500 250
33621540 [Nwuwwykphtt 20uq Unuply Qz hwwn 50 2,500 50
33691145 [Uwqubghnid unydwwnm 25% 5d;  upduly @z hwuwn 50 15, 000 300
33661122 |[NMwpwugkwnudn] 100Uq Unuhy Qz hwwn 70 35, 000 500
33661122 |[NMwpwugbwnwdn] opwpul 120Uq/5d] 60d] wnth Qz hwn 380 19, 000 50
33661122 [NMwpwugtnnwdn] 500uUq nnwhwin Qz hwwn 5 1, 500 300
33661122 |Mwpughnuung 1% 100u; wnntth Qz hwuwn 2000 20, 000 10
33671119 |[Ehpwudpyne thwupbkp Q7 huiwn 450 9, 000 20
33661000 [Ulkuphlqny Unuply Qz hwwn 90 13, 500 150
33661000 |[*khd Unuhly QZz hwwn 220 7,920 36
33671130 [Yhdkuhhnpuwdht Yphdbgpn 1% 1.0 upul Qz huwn 30 21, 000 700
33641413 |Yhpuwdbuniwugnu 4udq/d; 1.0 upuy Qz hwwn 50 35, 000 700
33671135 |[Ywjghnwh pinppn 10 % 5.0  upjuy Qz hwwn 50 10, 000 200
33611420 |[Ywjghnuh gpnijnbwwn 10 % 5.0 upjul Qz hwwn 80 4,000 50
33691202 |[Eunwdqhjuwn 250dq 2d] /nhghunt/  upjul Qz huwn 190 9, 500 50
33691223 |Lunpnyuwpht 0,3 U Qz hwn 1900 47, 500 25




33691223 |Eunpupwwuphti 0,4} Qz huitn 2500 12, 500 5
33691236 [Lnpnyhpwuht 20Udg/d] 1d] upul /uniypwunh/ QZz hwwn 270 2,700 10
33691236 [Lnpnuyphpudhtt 20dq phnuwhwwn Zuniypuunh/ Q2 hwuwn 60 2,400 40
33691236 [Ukdwuwnht ldg phyuwhwn Qz hwwn 70 1, 400 20
33691236 [Ukdwuwnht 1dg/d] 2d] upuy Qz hwwn 290 2,900 10
33691144 |[Lwwuniphnidh phnunydwun  30% 5d)  upquly Qz hwwn 40 800 20
33691213 ;Egiﬁﬁﬁﬁb hhh}ﬁgﬁpgf@mpﬂmlbh UwbipRukp Q2 hunn 150 7,200 48
33611150 [Ukght $npunk 350000 gphnwhwwn Qz hwwn 40 40, 000 1000
33611000 |9hgipht Undhlubtp 2.11q Unuply Q2 hwwn 150 4,500 30
33611000 |9hgtpht dndhlubkp 1q Unuhy Qz hwun 150 9, 000 60
33611000 |FPhuwlnnh; Unuhl 10uq unuhly Qz hwn 35 17,500 500
33611000 [Phuwlnnh; 5uUq phnwhwun QZ hwn 8 1, 600 200
33611000 [Thnudtuhw /Udtjunw/ 3q thwphkp Qz huwn 160 8, 000 50
33611000 |[dnudnpniqh) 16q thwphkp Qz hwun 150 6, 000 40
33611100 Sﬁ?ﬁﬁﬁm 20dg Q2 huin 15 450 30
33611120 Er‘}l‘fufl‘lumhl 20uq Qs hurn 800 8, 000 10
33600000 }}’Eﬁlﬁl}ﬂlﬁubh 25Uq/50g Q2 huin 230 23, 000 100
33611160 |Utwnlnuypndhn 2.0 upjuy Qz hwuwn 70 7, 000 100
33641100 [Opuhwinghtt 5UU/d; 1.0 upquly Q2 hwuwn 130 195, 000 1500
33641200 |Uhqnupnuwnn 200 dg nlnuwhwn Qz hwwn 250 75, 000 300
33641210 |Uhdtyphunntt 200dg  phnwhwwn V4 hwwn 7000 63, 000 9
33641330 [NPwpndtunwi 200Uq nhnuhwn Q’ hwun 300 8, 400 28
33641310 |Yhypnghunbpnt 10dq nhnuwhwwn S Y4 hun 250 150, 000 600
33611341 |Yughmud 13 plnuwhwn Qz hwwn 90 9, 000 100
33611341 |Updw-wnlyndtpn] wghnmuwn 400dq  npud Qz huwn 30 1, 800 60
33611341 |Uwquk £6 500uqg+5uUq nnwhwn Qz hwwn 50 12, 500 250
33691212 [Yphnudhtt 450Ug htuwbkphnpht 50Uq/Yhwnpwtpu/ hwp Qz huwn 110 6, 600 60
33621240 (8hwulynpujuuhi 200 uyg upquly Qz hwwn 15 3,750 250
33611350 |Uulynpphtwmppent 50 2.0 upyuly Qz hwwn 30 18, 000 600
Jhunwdhtt £ hwdwihp (Jhuwdhtt Bl, Jhunwdh B2,
33611341 q_Emuldbh B6, phpuwwipkin), uhynunptwdhn) 2Ug/ |y Q72 hwuwn 180 18, 000 100
241
33621100 |[Zkwwphuh puml 25 g wnnuth Qz hwuwn 650 3, 250 5
33000000 [9pouliuynt (huhdkuwn 40q wnith Q2 hwwn 300 3, 000 10
33631200 [Lnpuudkuhlyn)/dbwnphinipugh) punty 40q wnuh Qz huwn 950 4,750 5




33631170 [Skwpwghlyjhtt weph punil 1% 3q wnith Q2 hwuwn 600 12, 000 20
33621150 [dhundtuwughnt 2 g 0.2 Uy upjuly Qz hwun 1300 650, 000 500
33621100 [Spwikljuwd 50uq/u] 5u upjuy Qz huwn 1650 165, 000 100
33621100 [Spwiukjuwd 500Uq hup QZz hwwn 350 35, 000 100
33671123 [¥unight, Ebtinph/ Ppntijunihnhtt/ 125U wntth Qz huwn 600 6, 000 10
33671125 |Udppnpuo] opwipull 100Uy wntth Qz hwun 700 14, 000 20
33671125 |Uippnpuo; 30uq ptnuhun Qz huwn 20 2,000 100
33671136 |Untjujunpt 50uq ntnuhun Qz hwun 8 800 100
33671126 |Ppnuhkpuphtt  8uq ntnuwhwuwn Qz hwn 8 1, 600 200
33671126 |- Tr’l‘:l‘flhhpuhh Mlg/od 1000 opupuil Q2 hunn 900 4,500 5
33671113 |Uwpninnwudn] 2dg  phnwhwuwn Qz hwn 15 3, 000 200
33671113 |(Uwjpninnuun] /Uwpniinudn) 4dq  phnuwhuwn Qz hwwn 70 8, 400 120
33671113 |[Uwjpninnudn) /Uwpninnwdn] opwpull  2udg/5d) 125U Qz hwwn 1200 6, 000 5
33671113 |[Uwjpninmuun] gnnughp 100Ulg/nnqu  200pnqu  wnyg Qz hwwn 1000 10, 000 10
33610000 |unjhuwy gk 10q wnntth Q72 hwn 2900 14, 500 5
Lhanuyhtt (thnnyughtth hhnpnpinphn) , - gkwnhjwhphght
33661000 [( gtwnhjyhphnhth pinphn)3,3udq/q+1dq/q, Qz hwiwn 1500 4, 500 3
10q gqk| /puygk)/ wnuh
33631281 |8twphuhy, piquiynithnidh pinphn/Ypuwymkly/ 0, 290, 07 Qz hwwn 2000 30, 000 15
33621340 [Yndthtt wwuwphnud phugnun  200dq/duy] 1d] upqul QZz hwwn 25 250 10
33671115 |[Unydnjuddnluht 100dg/u] 2d] upjuly Qz hwn 60 600 10
33641000 |Ppnunyphyunhuh dkqhjun 2.5Uq nhnuhwn Qz hwwn 120 7, 200 60
Eppippodhgnijwibphwtun, - dhinpupphunwy, wynubnuiho
33621300 whwbnipuh oy /Ynpdwyny/ 30U 2ohl Qz hwwn 150 2,250 15
33691133 [Ukpwplydwl ¢nip 2u; upjuly Qz hwwn 30 12, 000 400
33620000 [Fuuqikdtt 15dq/d;,  2dp updul Qz hwn 300 15, 000 50
Gpywph (111) hhnpopupnh b wnjhuwpnngh hudwihp
33621200 |[50uUq/54, QZz hwwn 2500 12, 500 5
100U
33621200 |CpYweh (111D hhnpopuhnh b wmhiwinngh hundwihp Q2 hun 110 22, 000 200
100 g Suwdyny phnwhwwn
Epuph (111) hhygpopupnh b wnjhuwnngh hwdwihp
33621200 50ug/up, 2U; QZz hwwn 750 75, 000 100
33621200 Epuph unydwntwulnpphiwpent 320Ug/60uUq Qs hun 35 3. 500 100
ntnuhwwn
33671116 [Ruhnubkuniwugnihi/Lughght/ 0.025 % 10 uy wntth QZz hwwn 900 27, 000 30




Lwwnphnuwth pinphy, Ywhnwh pnphy, twwnphnudh

33693000 [ghuipmun, wbgnip qynilng 3,5q+2,5q+2,9q+10q; Qz hwwn 300 60, 000 200
/ *khhnpnty/ 18.9q  thwphp
33621750 [ULbdtghwyht phuwpy 20Uq phnuhwwn Q2 hwuwn 45 9, 000 200
33621490 |ULkphipnywu 250Ug nnuwhwin Qz hwwn 40 4,000 100
33621590 [dnipnubtihn 40dq  ghnwhwn V4 hwwn 3 240 80
33671118 ?nl;lﬂrlinfplnpuulghh, phpuwdbiniuqnt /dnpuunbtpu/ 10.0 Qs i 1900 38, 000 20
33631230 |MnJhnnu jn  100Uq/q 20q puntl] wnih Q2 hwuwn 200 3, 000 15
33631230 [Mndhgnt jnn 10% Qz 1hwp 3000 60, 000 20
33631230 [MnJhynt jng 0,2 dndply Qz hwwn 180 25, 200 140
33631240 [Lnphtpuhnhtt uyhpunuwyhtt jmsnyp 0,5% Qz 1hwp 1800 54, 000 30
33631240 |£nphtipuhnhtt opujhtt nisdnype 20% Q2 1hwp 11000 55, 000 5
33661117 |[Ywwnuwjunnnh pwbdp hwinitl 20dq phnuhwuwn Qz hwwn 2 500 250
33691141 |OpYwsht pwynt V4 hwwn 2800 168, 000 60
33631270 |Unwdwln Ywbws 1% 10d; $; 922hYy Q’z hwwn 84 840 10
33621641 éﬁ%ﬁﬁ?l{%}wgmkuhuambh b mtumlslﬁﬂihbz Uhgngutp/ Q2 hwuwn 22500 562, 500 25
33621641 flmhg‘;f;g‘ihifhmbuhulmm u “lsfﬁbmhmhhé Upgngltin/ Qs hunn 5800 58, 000 10
33621641 éﬂ?ﬁﬁﬁﬁﬁﬁﬁ”&“ blll t §E$mhwhbz Ubgngtp/ az huin 8000 240, 000 30
33621641 éu;lr}umliﬁl;gll}l}z wunhubynhll b wpwnwhwihy dhongutpn/ Qs wnth 4000 8. 000 >
33621641 [Ukphikt Juuyniwn thnoh Qz gpuud 200 4,000 20
corisa [T Ml TR S | o | e || am |
33631250 |[Epwun; 96% Qz 1hwp 1100 27,500 25
33621641 [dnpdwht 33% |-p Q2 1hwnnp 1200 24,000 20
Pdojwljwl vwppwynpmdukp U gnpshpukp
33141159 |Qtnung ny uwbph; M Q2 hwuwn 15 150, 000 10000
33141156 |Qtnung uwbkpp N 7.5 Qz Onijq 100 50, 000 500
33141156 |Rktnung wuwmbph; N 6.5 Q2 9nijq 100 30, 000 300
33141142 |[Lkpwupyhs 1.0 Qz hwiwn 11 5, 500 500
33141142 |ukpwplhs 3.0 Q2 hwuwn 11 44,000 4000
33141142 |[ukpwupyhs 5.0 Qz Zwuwn 11 44,000 4000
33141142 |Ukpwuplhy 10.0 Qz Zunn 20 10, 000 500
33141142 |[ukpuplhs 20.0 Qz Zwiwn 35 7, 000 200
33141145 |Nnunipnnujpt wbqquyugdwt wubknubp 256 Q2 hwuwn 400 40, 000 100
33141144 |Uukln 18 @ Qz huwn 8 16, 000 2000
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33141144 |Uutn 21 & Q2 hwuwn 8 8, 000 1000
33141136 [Ywpbtwnnp $nh  12FR Qz huwn 200 60, 000 300
33141136 |[Ywwnbtwnp W/t 18g Q2 hwwn 50 500 10
33141136 [Uwwkwnnp W/t 20g Qz huwn 50 10, 000 200
33141136 |[Ywwnbtwnp Wtk 229 Q2 hwwn 50 20, 000 400
33141136 [Uwwbkwnnp W/t 24g Qz huwn 60 30, 000 500
33141136 |[Ywunbkwnp u/kt.269g Q2 hwwn 50 5, 000 100
33141136 |[Mnpuuht Lpulh juunbtuntp(Umbilicale) Qz hwwn 500 2,500 5

31221280 gf‘gxmprgldﬁh R qln@hhpwf}gﬁfh hundwlupgh Q. hunn 400 20, 000 50
33141136 |Ukpkpwlhuyht phpbnthy 23g Q7 hwwn 20 6, 000 300
33141178 |Uhumbtdw hudniqhntt $hjipnyg Q2 hwuwn 40 60, 000 1500
33141178 (Uput thnpjubpupliwi wwpp $hpnpng QZ huwn 120 1, 200 10
33141112 |Uwtnuuph 5*500 pnphg Q2 hwwn 120 36, 000 300
33141112 |[Uwhknuuh 5*500 Yunphg Qz huwn 350 52, 500 150
33141121 zﬁgﬁ?fnzgdﬁnnglmgﬁh£|e2(5 METRIK) 75ud swlnn Qs huun 300 43, 200 144
33141121 zﬁgrﬁiﬁnzgd?ng}qzlmgﬁhflel(4 METRIK) 90ud swlnn Qs humn 300 43, 200 144
33141121 ZI;lLEIulh]an Jtngnun 270 (3,5 METRIK)Swlnn wuby Qs hun 300 108, 000 360
33121260 [Stuwwndhy duyuykl UPP110S Qz hwuwn 5000 50, 000 10

33141115 (Pdojulju pudpwly/ Pwdpwl 50q Q2 hwuwn 85 34, 000 400
33141100 (Pwjupy Qz hwwn 5 10, 000 2000
33141160 |Unungk; 250.0 Q72 Zwwn 300 30, 000 100
33141157 [Lownwuph uwyp N23 Qz Zwuwn 14 1, 400 100
33141157 [Lowwuph uwyp N24 S Y4 Zun 14 1, 400 100
33140000 [QpUwswth  ulbghluyght Qz hwwn 350 7,000 20

33121180 |Snundtwp uwmbwnnulnyny dwbljulub Q2 hwun 3363 3, 363 1

33141100 [lunquuwl Akppkph Jugduit Qz hwwn 300 105, 000 350
33141100 |(Yuwply pdojuljui S Y4 Zun 8 4,800 600
33141100 [Lnpwbsuh Adkntwonpu Qz hwwn 30 15, 000 500
33141100 |Utyniupsy uvwdul pninuny Q2 hwwn 2500 15, 000 6

33141100 [ZbEowinguyhtt huybjh Ynwulnh nphwyh, wjwundwub Qz huwn 100 100, 000 1000
33141100 ﬁiﬁ?ﬁﬂ huylih upduh whyh pwpdwtng, Q2 hwitn 400 400, 000 1000
33141100 |[Cdywuh quudwb thuynk ryuwnb Qz hwwn 15 60, 000 4000
33210000 |Znhmipjnup npnobjnt phup Q2 hwun 50 7,500 150
33141100 [NMunuwwplhh whpdnpuwnnp unbppy Qz hwwn 400 120, 000 300
31651200 |EUQ duwwykt 30ud*S0ud Q2 hwuwn 600 36, 000 60




33790000 |Ewhkunnpd 1.54; Q7 hwwn 6 9, 000 1500
38431720 [Ywpnghlukph duypwlujubp/ ntnhtu QZ hwwn 2.98 11,920 4000
38431720 |Ywpnghlutph duypwluwiutp/ Juuyniywn Qz hwwn 5 2,500 500
38431700 [Ynwgnyndtwnph niugkntukp N500 Q’z wntth 42000 84, 000 2
38431700 [Phnphuhwlwl Ymnidtun. Qz hwwn 68 34, 000 500
33790000 |Unwpluyuljut wuywlh N50 wnith QZz wntth 500 15, 000 30
33790000 |Unwpyuyuliut wwwlh 21hdny N50 wnith Qz hwwn 750 22,500 30
33790000 [Owsdluujuljh 24*50 Q’z hwwn 10 5, 000 500
33191310 |Pnpdwbnp wjwuwndwuk 10U Qz hwwn 300 90, 000 300
33191310 (®npdwunp 10d]. Uhokpny Qz hwwn 300 60, 000 200
33141143 |Ujuphdhyuwnnp S Y4 hun 4 14, 000 3500
39121270 |0 e b P phap NI00 i a2 hun 5000 15,00 | 3
42671120 |Cwmwunhy thnpdwbnpubph yjuunwubk 6 wnbtnuung Qz hwwn 1000 1, 000 1
38431720 |huunipughnt junnnduly N3 QZ hwwn 170 340 2
38431720 |huwnnipughnt jungnuly N3,5 Qz hwwn 170 340 2
38431720 |huunipughnti unpnduly N4 Qz hwun 170 340 2
38431720 |huwnnipughnt jungnuly N7,5 Qz hwwn 200 1, 000 5
33151250 |Lwgnquuupuwy qnun 10FR Qz hwun 50 500 10
33151250 |Lwgnquuuipuw] qnurn 8FR Qz hwwn 50 250 5
33141114 [Bwbqhy hannmipniip 32¢/U2 QZ dbwp 115 230, 000 2000
33141173 |Uhquhwquwp wwpl 2000d; Q7 hwn 120 36, 000 300
33141211 |ukpnyuyqbp dwbulwul Qz huwn 24000 24, 000 1
33141183 |Ukpwlypdwl qnun 6 FR Q2 hwwn 200 2,000 10
33141183 [Ukpwypdwl gnun 10 FR Qz hun 200 400 2
33141140 |Upnwssdwmt juwnbwnp 8 FR Q2 hwun 300 9, 000 30
33141140 |[Upuniwussdwt Juwnbwnp 10 FR Qz hun 300 900 3
33141140 |[Upunwssdwt Juwnbtwnp 12 FR S Y4 hwn 300 600 2
33140000 [Mnpuwubnuhs Qz hwn 25 12, 500 500
LhUPUYUL WBNREGL / jupnpunnp wjunnpnohy, wpjuunwhwinng b wy] wwpuquikp
33211130 E’E&;‘fﬁﬁ}ghﬂg&?mm /punhwtimp jnjkunhphth Q2 iy 13800 41, 400 3
33211140 f I{‘ﬂ‘{g’ﬁfﬁh Bn'p"n';fh' '\I'ah/u ‘%;‘l_r}ﬁ‘u‘f&ﬁ;%;mnmhq az Yy 10200 30, 600 3
33211150 EE&EEE;I;L;J rea-CO/dhquiyniph npnodwt phup- Qs Yoy 7600 53, 200 7
33211160 Eﬁﬂizgig$7Crea—Col /4ptwnhthth npnodwt phup- Qs Yoy 6250 18, 750 3
33211190 8nihynt/nbwgkiv/ winh-A Zwpput judph 11 npnpdwb Qs Ynfug 4500 13, 500 3

ptup/10up




8nihyn/ntwgkiv/ wunh-B Zwpju padph 111

33211200 npnodwl phup/10U] QZ Ynuuy 4200 12, 600 3

33211000 ([8njhynu/nhwgkuv/ wuwnh D 10U Qz Ynduyg 6500 26, 000 4

33211000 ([8njhlnu/nbwugkun/ wuwnh- AB Qz Unuug; 5000 15, 000 3

33211000 |udpwyhtt ohdnily AB (1V)/unupwugnighs/ Qz Uy 57.6 2,880 50
ON-Yuppnt RPR Carbon /updpithuh npnodwt phup-

33211230 hwiupwdnt/ 100pkup QZ wnnith 11750 141, 000 12
8-ntwljnhy uwhwwynigh npnydwmb phup-

33211250 hwjupwsni/CPB  100pbup @2z Ynuuy 8280 16, 560 2

33211260 Ubuwnhunpbywunihght -O npnodwt phup hwjupwusnt Qs Yoty 10000 10, 000 1
100pkup

33211240 g}élf;lmnhq dwljinnp RF npnodwt phlup hwjwpwént 100 Qs Yy 8000 8. 000 1

33211270 |Cughwunip uwhwwlnig 4*120U; Q2 Ynuu; 7450 7,450 1

33211300 |Ywjghnith npnodwl phup-hwjwupwédnt Qz Ynuug 9450 9, 450 1

33211310 |EpnUpnyjuuwnhth /wypnppndphtught dudwbwl/npnydwt QZ H 3500 140, 000 40
wput whwjhgh wqpuiymptp (ebwughknubp) /ULS

33210000 npnotwl phup hwdupwdnt — 2%60 @2z Ynuuyg 7590 22,770 3

33210000 |wpjub whwihgh wqpuigniptp (ehwgkinttp)/Ujpnidhi L4 Yoy 7450 7,450 1
npnodwtt plup hwjwpwdnt 4*100up
wpyul whwjhgh wqpuiympbp (bwugbkunubp)/0US

33210000 npnotwl phup hurjupwdn 2 * 60 @z Ynuuyg 7590 22,770 3

33210000 [wput wiwhgh wqpuiynmpbkp Qz Unuuy; 49000 49, 000 1
( nkwigktinikp)/bhpphingkt npnouwh phup hwjupwént

33211350 |[zkUngnphtt npnpdwt phup hwjwpwsdnt  5000u; Qz Ynduyg 12000 24, 000 2

33211120 |quniynquyh npnpdwb phup hwjwpwsdnt @z Ynuyyg 9100 36, 400 4

Zhyuwwnhwn £ Jhpniuh wbnhgbih npujului
33211320 hwjntwpbpdwt ptup hwjwupwsn/HBsSAg/ *2 huun 280 280, 000 1,000
Zkyunhwn C Jhpniuh wuwnhqbih npuljuljut

33211320 hwynbwpbpuwl phup hurjupubn/ Qz hwiwn 250 50, 000 200

33210000 wpul whwjhgh wqpuiynmptp (hwughknubp)/ Qs L 2880 14, 400 5
wqnuwljul ppnt

33210000 jupnpnuinp wqpuigniplp (phwgbinutp)/ wqnip-tnght *2 L 9800 19,600 2

33210000 jwpnpnuinp wqnuigniplp (phwgqbiniubp)/pdkpuhnt jnig *2 L 50000 20,000 0.4

33210000 [8huininghwlwt unuhtid 100U Qz hwuwn 5500 11, 000 2

33210000 (Ruhing QZz ! 1800 1, 800 1

33210000 |EA 50 reagent pap 3B QZ L 10500 10, 500 1

33210000 |OG reagent pap 2A Q2 13000 13, 000 1




33210000 |Hermat oxylin pap 1A 2z L 13000 13, 000 1
33210000 EP:IEEHZJMU yniplkp/ Ulne skl qpmiyndbunph phup- Qs hwn 5000 5. 000 1
33210000 [Utkqh é&nphlutp 11 wwpwubwnpn] /100 hwuwn/ Qz wnntth 9500 9, 500 1
ounusNkE3NkLLEN 0
64110000 Onuwnuyhlt Swpuynipnil U npud 20, 000 20, 000 1
64211100 hpwjunuwjuyh Swpwjnipni Uu npud 500, 000 500, 000 1
65111100 fudbnt oph pupjunid /opudwunuwwpupnid, epuwhbnwugny] U npud 250, 000 250, 000 1
65211100 |Qwgh pwojnud / uywuwpynud/ uu npud 2,500, 000 2,500, 000 1
65310000 |EEjupuluwinmipjut pupjuntd Uu npud 1, 500, 000 1, 500, 000 1
90511100 |Unph hwdwpdwl swnwjnipjnil Ul npud 350, 000 350, 000 1
puyudkip 14,484, 381
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